MAC 2233 EXAM 4C Dr. Rapalje NAME
Chapter 5

Show all work on separate paper. Turn in ALL worksheets.
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7. Find the value of the integral by calculus. Check by calculator
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8. Given [ (2¢™)ax

a) Find the exact value using calculus.
b) Find the decimal approximation (using the calculator!)

9. Find the area under the curve f(x)=3x*-4x+5 fromx=2tox=>5.
10.  Find the area between the curves y = 12x — 3x% andy=6x-24.
11.  Find the average value of the function f(x)=+/x on [0, 16].

In 12 — 15, find each integral.
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16. Evaluate: I: x*x* +9 dx a) using calculus b) using calculator.

17.  World copper consumption is running at the rate of 20 *** million tons of
copper per year, beginning at t=0 in year 2000.
a) Find a formula for the total number of tons used after 2000.
(Be sure to find the constant c).
b) How many years will it take to use up 800 million tons of copper?
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